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Two opposite charges of 2.5 uC is separated by 3 m
as shown in the figure, )
2.5uC
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Q1) The vertical component of the resultant electric field
at the point P equals:

3.00 m

a. — 540 b. - 1.08x10° = S
c. —1.37x10° d. —686.2 -2.5uC 400m
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QY) The horizontal component of the resultant electric field
at the point P equals:
a. — 540 b. - 1.08x10° c.—1.37x10° d. —686.2
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Q3) The angle (¢) of the resultant electric field at the point P with the positive x-axis
equals:

a. 38.2° b. 141.8° c. 128.2° d. 218.2°
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Q4) The total electric potential due to these charges at point P equals:

a. Zero b. —2.25x10°3 c. —1.12x10° d. —20.25x10°3
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Q5) If a charge of 4 uC moved from infinity to the point P, the resultant electric force
acting on this charge due to the other two charges equals:

a. Zero b. 8.75 mN c. 7 mN d. 3.5 mN
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Qe6) The change of electric potential energy when a charge of 4 uC is moved from infinity
to the point P, equals:

a. -45mJ b.—9mJ c.—7.2mJ d. Zero
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Q7) If a charged particle of charge g and mass m is accelerated in a uniform electric field E,
the magnitude of its acceleration is given by:

a. qE/m b. mg/E c. mE/q d. mgE
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Q8) A charge of 12 nC is located in the center of closed cubic box of edge length 6 cm, the

electric flux through one surface of the box equals:
a. 360 b.56.5 c. 226 d. Zero
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Q9) An insulator solid sphere of radius a = 10 cm is charged with a positive charge of 25 uC,
which uniformly distributed throughout its volume. The magnitude of the electric field
at a point 15 cm from the center of the sphere equals:

a. 20x10° b. 10x10° c. 2250 d. 3.4 x10°
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Q10) The maximum magnitude of electric field of the sphere (Q9) is located at:

a. Its center b. Inside the sphere c. Its surface d. Outside the sphere
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Q11) A charge of 25 uC is distributed over a thin spherical shell of radius a = 10 cm,
the electric field at a distance 5 cm from the center of the spherical shell equals:

a. Zero b. 11.25x10° c. 0.35x10° d. 22. 5x10°
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Q12) A very long insulating straight filament has charge per unit length 25 uC/m.
The electric field at 15 mm from the filament center equals:

a. 125x10° b. 25x10° c. 15x10° d. 30x10°
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k = 9x10°N.m?%/C?, ¢, =8.85 x 10™? C¥ N. m?, le|=1.6 x10"° C




